f # B
.7 &=171.5 B BtEs) 8 5
A F T 2w G
B & (ko) 8
. 5 2 B Re1/2
285" 5 218 13A LPG
r 3 (v bT3E) A2 | 2R 4. 40KW (3780kcal/h) 4.30kW_(0.307kg/h)
) o Sl HEE| 3807 —7 - 3.50kW_(3010kcal/h) 3.20kW (0.229g/h)
Nvx=>—1 1.27kW _(1090kcal/h) {.27kW_(0.091kg/h)
- < e R DC3VI(BIEZ LA VEEH2E)
| | ~y DL —h T LNy TT L=k
a 5 N M B 57 &
O ﬁg
~ < s 97
& i © | x
— ® R
= ‘ R10~30 ‘
‘ %/ ‘ 7= by TRFFERE00
«/ 280 455
. - - - (FOv 7oA YFiE) (FOv 24 >Tih)
(S=1:10) | _ o
o | T— 7 kv TPURGTE _ == L ) f-‘:i"igé'mg%;"_].
o \ . = o\ EEE R B
S | —— F e ) o
CD | | | | Bt — RAIR
° *© | | | Tt — 2,
. y 285" VR
2 | [j]/ '\qxﬁj ) :
315/(18) | I | 460+6+
Lo (Hhw hT3E)
: ‘ ‘ | |
[ I > a_ e ] . S [« ) [l |
It L ol 1 b L =1 H]
0 . | e : : ‘ |
he e e 0@ O = |
el HeH Eéi‘ g 2R e
C~ i
SE e Sk AR ‘ . |
//7;ﬂ:ii Bt o — XA (= A 2O |
By =20 —%2 / 90 \\ Re1/2 - S e
== 280 Bty — 2% = iF B X fA) 7
A 245450/ ©EE \ Bty — 2 He SlSHLAE 97.5
13 455 B E T IR (S=1:10)
() Bt — 2\ — % 2 & = $9650mm % LTEREBMUMIT RS

¥ Eihr— 23, UL TEFrERY FAIND
WATITHe], 2 0O, &t — XEBNR B ELIh

LTrEsL,
- —asnx
B IR X o5 e
temy| 16.10.00 |REE[1:5917| A3

102


user50


user50



